Tuesday 2" February 2021

Partition the number you are adding. Jump to 10, then add the rest.

7+6=
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O 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18

| | o
O 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18

el
01234567 8 91011 121314151617 18 1920 2122232425

et
0123456 7 8 91011 1213141516 17 18 19 20 21 22 23 2425



Challenge questions

Wendy has 17p and finds 7p. How much money does she have now?

crrrrerrrrrrrrr el
0123456 7 8 9101112131415 16 17 18 19 20 21 22 23 24 25

Chow has 18p and finds some more money. She now has 24p.
How much did she find?

e
0123456 7 8 91011 1213141516 17 18 19 20 21 22 23 24 25



